T T R o ST T (B S \
. S (CD)H4 BEflx,y BFAEE » F-3<logx<-25H25<logy<3 » B NI BT FHE ?
7 iR - WP P os s E ( 2EHUE © log2~0301, log3~0.4771 , log5~0.699 )
g2 (=) A T B e wx%@mﬁﬁﬁm@%@m%~@$%omﬁ$aﬁ%s
(B) y BYEEELER > A A8
— ~ BB —EERE %6’\ £ 1245 O y B = AL BT TTRE /& 4
a hva
(B )1 Bhlab>0HHE log 22 da=b o AR TSI (B 2 D) xy BYRERE S FTHER 1
: , 23 p : E’J%Eﬁzf‘ﬁ = RaRITA
A= B) = © = D = E =
3 6 5 5 9 HP%MP ) AR S B EET EERT AN
[#5 F o) HEEREA{EE I E SR [#4]) A #Flogx=-3+a » 0<a<05 » Hlx=10"=10"x10* »
I 2 s 5
[s2d ] Ogﬁa:logz(a ):log,,(az)=22>02=b3 Fx b, t:é pan O<0{<0.5 .
log,b  log,b 3 . 10° <10” <10™ <10 = 1<10” <4
i B) 5—EA A 0 VB F A ERER S
B &Flogy=2+L,05<p<1  H]y=10"" =10 x10” »
No05< <l
S 10%7 <10 <107 <10' =3 <107 <10
(D)2 é&#@?@ﬁﬁ%y=10g[(4")*1—10g75’\3)5ﬁ7§%£ (x, ) FTZ B BT 25 T 50— {E LT 2 0y HVRERLEN o A =L R ﬂiﬁ%fﬁ?iﬂﬁ?% 45,79 ¢
A) —(EBE B —flHE (OF 3= D) BA 1A _FByinss (E) B I a R ey s D) -0.5<logx+logy=logxy <0.5=10"" <xy<10*° = xy AYELEEF /S EIREE 1 -
[’fﬁ@q’ o] FEFHEEAARER E) 5<log.1*—log.\‘:log;<6:> 10° <;‘%<10“ :>i_':105‘" » O<y<l
[#a#] y=log((4") )—log7 = y=(log4" ") ~log7 = y = x*(log4)—log7 ° ‘ : : :
& A&—FE L E_Eeyiiés A i HYEEREN 77 R AL B
D) eSS C D)(E
=\ TR : 885 £ 484
—_ZEEEE 81053200 L= St i s g, OE, 8 B
' . Fa>b>c BESHKREE  FHa=—2— > c=log,5xlog,3 > Hjb=__ 2 o
( AD ) 3. BAR THIEEIE P A/ NB (A L TERE 2 ) ) o

E A (-3)° > (-5 B) 0.2°' <0.1? OFab>0Hd>b > Hla>b

5 6
o 202042020 000 ®3a>0Ha">a 0 Hilog, 13> log, 7
[ o) F A EEEEHEMEEEER/N

s | 13 1 1 - ‘
JEH (-3)"° =—— - ——=——  f8(-3 =5)7 -

(a4 ] (A EH (-3) S g 5)° T B(-3)° >(=5)

B EBOIU.Z:OOI()I XO')()I>OOI()] Ol()”’

OFH :Ha=b=2H[2°>2*{Ha=b -

D &E#F%‘%&H%ﬁ
. 2020° #2020°
~2020° +2020°

>+/2020° x 2020° =2020°°

E#Ea>0Ha" >a HEEEEKHa>1 -

BT LA log, 13 >1log,7 -

log_2

3

(& + o ] HEEVAR A ER BB ER

[ 47 ] IL[(,::0g7§:10g18=3 » c=log,5xlog,3=1
0g,
V3,0, 1R EE . b=2
7logx-5-3"=-1
2. WL J5r24H o8 B’ﬂ%ﬁ(x,y)/% (100,1) -
log(x*)+3" =2 ———
[#4& ¥ <] FI a8 IS 'r_iiﬁfﬁ 3i AV fﬂ”’
Tlogx—-5-3" =-1 7logx — 2llogx—15-3"=-3
(] | - N 5[0 :
|log(x*)+3"* = 16100\+) 3 =21 |30logx+15-3" =105
A <1100\-107:‘>103\ 2 > Blx=100 »
logx=2ft[E F=X{§42-15-3 =33 =3=p=1 -

Ii&%(.\'._v):(loo,l) »

B2 (Z)A /T [&ESEHE]



